245 E HMHATHREEERSELIFEERE BR-EHX I H24%4 A 28H (1) KAHTESI A BREE L HES
IEfE 142 24 34 4AfiL 54 64 7L 8fif £
[E3E] K& (FiE) o K& (FiE) o K& (FiE) ok K& (FiE) ok K& (FiE) bk K& (FTE) iifx K& (FTE) iifx K& (FTE) iifx
1££100m A+ BE | 12772 | BB KZE | 13720 | #HH A | 14712 | BE HX | 14737 | FEB WE | 15708 | BB |K | 15725 | ®E &Eth | 16718 | £ BE | 17779
fE_ 1 fE— 1 fEPAH fEPE fE= g fE= 1 fE= 1 FE— 1
141500m B BA |[526749| FE A | 527790 Kb B3l | 528725 | #3 FEAER | 528759 | 4 ZFEth | 540793 | KA ¥ | 552767 WA EHBE [ 553731 R E 615724
B FEZH1 EZH1 fEPE FEZH1 g i gy fE— 1
22100m | BF hiE | 12768 | E+ERA | 13707 | B KF | 13727 | &K (R | 13733 | /B jE&E | 13753 | EBR ORE | 13761 | fEB & | 13795 | HEA BF | 15772
fRP 2 fE—2 fE=2 =2 EE— 2 fEm 2 fEpE 2 gEpach2
34100m FE EH | 12719 | BB $EE | 13709 | 2F kEE | 13717 | #F% FF | 13781
FE= 3 fE—rh gEpch gEpch
#m200m | =B sk | 26715 | K¥ EE | 27718 | BREF EK | 28”11 | @k K#E | 31788 | LA £ | 33700
fE— 3 fE=$3 fE—2 fRPa 2 fEpuch2
s#m400m | 2% EA | 60789 | EE AL | 62762 [ M £ | 75751 | HHE BEH | 80723
= fE—3 fE—h2 fEPA2 fEPA2
#38800m EE OB | 229720 £ B 234722 | NI BERE | 234759 | FiE $HE | 239752 FER £ [ 239795 £H Eth | 246707 | FE A | 249726 Kb Ezl | 249789
fE— 2 fEZH2 fEZH2 fEP 2 fEZ 2 e daall e daall e daall
#381500m| FR R | 455727 EE3H OB | 455780 EMA HE | 501770 KIF EZ | 502750 /NI BERL | 503771 iREAF EK | 504790 | FE HF | 511736 | ME #EwSk | 514779
- EEZh2 EELh2 gE—ch3 fE—h3 EH 2 BE—rh2 BEPEh2 fE=rh2
p FEE R (1030773 EME HE [1104799] KiF EZ [1144728
#;83000m t% tho t—rh f5—rha
e B EA | 19777 | BN FE | 19788
BHOmH| " g fE—h3
IR e K& 4m74 Bk hE 4m42 | FEH X 4m16 R R 2m99
FE—rh1 fE= 1 fEpa1 fEpA1
pr—— A BE 1m75
HiEBES % f5—ch3
S#EEIEDE HES_E%B 5m66 B B [ 499 | A+EEAK | 4mTt s H#& 4m36 INE EE 3m85
Bt gEpu 2 FE—f2 gEpa 2 fE— 2
1 Al A | 6m70 | EHE RE | 6m29 | FAIE Bth | 4m96
B | g s fEmh2 B
4x100mR FE—p 50”39 FE=FA 52743 FEPARA 52775 % 54700 fEmB | 8R4 fE=rh *ry fE=FB &k
14100m NSEDLE | 14781 | £RK 1% | 15734 | EH Ef 15742 | IR BAEF | 15774 | HH EF 15785 B % 15785 | kAT Bt | 16723
fE— 1 fE— i fE— 1 fEPA fEPAH fE—i fEPA
1 I 1EE HH 3m73 | BIER XA 3m38 | NISEHEDHE | 3m34 A % 2m57
fE—1 B i fE—h1 FE—1
24100m RE K& | 14706 | SEBEM | 14707 | KR PR | 14709 | /N #5F | 14712 | AL #HFE | 14750 | FE)N 2 | 14786 | BIO £33 | 14788 | & ZE | 15700
fE—h2 FE=rh2 FE= 2 fE=rh2 fE—h2 g2 FEpa 2 fE—h2
3&100m | i@ | 13727 | 2@ %A 14762 | /L HE | 14772 | BAE Bk | 14775 | BRI HE | 14785 | #EE RGE | 15738
fE— 3 =3 fE— 3 fE=3 =3 fE=3
#38200m A i | 27772 | MNE BT | 29752 | RIR WR | 30705 | BL #3%E | 30748 | Ak Fifx | 31705 | /k 8|E | 32727 | ZHHALEHA | 33709
. fE—rh3 E=rh2 fE— 2 fE—rh2 fE— 2 £5 =2 fEpa 2
#B800m B =& | 232739 #E tiE |235710| HEEHD3 [241787| KB F# | 242738 Him XF | 243768 | LB &HIE | 244796 EE £A | 251708| B FfE | 253710
i gE—ch2 EESh3 gE=ch3 fE—ch2 gE=ch2 L3 EE S ch2 fE—h2
1£800m At B [ 300718 | FAAEY | 304737 IAX HEF | 306705| JA EF | 310765
fEpE T fE—rh1 fEpE T fEpE T
stmis00m | Bhm =B | 501789 | FE Ll | 517785| KE T4 | 520773 LF A | 541734 NI R | 542786 | HBR RE | 549798 | EHE XA | 558764 | FA)I RE | 602765
° fE— 2 fEZ 3 fE— 2 fEZ H3 fEZ H3 fE=r2 fEZH2 B2
#£58100mH BAHER 18714 B0 & 19788 NI 7= 21725 2R HE 21750 AE 2 22734 st BH 22”51
fE—rh3 fE=rh2 fE—h3 fE—h3 fE—rh3 fE=rh2
SEESD %ZH %A 1m30 | AREE BE | 1m25 | E2K E [ 1m20 fEE ¥ 1m15 RE R&E 1m15 Bt B mio | BE D 1m10
’ fE—h3 =3 B i FE=h3 fE— 2 fE—ch2  |efumEZE| fE—h3 | 6uRER
I FHN E | 4m09 O B 3m89 Ak FiR 3m74 | =k EfF | 3m7i B0 #% 3m66 KiFHLVS | 3m65 | /INE FRE 3m35 | £F FEX DNS
fEPAH2 fE=h2 fE= 2 fE= 2 fEPAH2 fE—h2 fE—h2 fE="h3
BRI aA BE 8m48 %S BE mm37 | FBN GRE | Tm19 RKE B Tmo3 | HHEHEZR | 6m75 'S ER 6mé1 | HK 1x5HH | 5m8l IR BE | 5m76
° fE=3 =3 fE— 2 fE=2 fE— 3 fE—2 B2 fE— 2
4x100mR fE—rh 53778 fE=rhA 56778 fE=rh 57703 fE=rhB 59”39 £ 60744




